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Question1:-Company's profit divided among the share holders is called
ഓഹരി ഉടമകൾ�ിടയിൽ വിഭജി�ിരി�� ക�നി�െട ലാഭെ� വിളി��ത്
        A:-Surplus
മി�ം
        B:-Interest
പലിശ
        C:-Earnings
വ�മാനം
        D:-Dividend
ലാഭവിഹിതം
        Correct Answer:- Option-D
Question2:-If the debt equity ratio is lower, protection to creditors will be
െഡ�് ഇക�ി�ി അ�പാതം �റവാെണ�ിൽ, കട�ാർ�� സംര�ണം _________ ആയിരി�ം.
        A:-Higher or lower
ഉയർ�േതാ താ�േതാ
        B:-No impact
സ�ാധീനി��ി�
        C:-Higher
ഉയർ�
        D:-Lower
�റ�
        Correct Answer:- Option-D
Question3:-Which of the following is a liability?
താെഴ�റ��വയിൽ ഏതാണ് ബാധ�ത?
        A:-Cash
പണം
        B:-Equipments
ഉപകരണ�ൾ
        C:-Creditors
�ഡിേ��്
        D:-Debtors
െഡേ��്
        Correct Answer:- Option-C
Question4:-Balance sheet discloses an organization's
ഒ� സംഘടന�െട ബാലൻസ് ഷീ�് താെഴ�റ�� കാര��ൾ െവളിെ����
        A:-Owner's equity
ഉടമ�െട ഓഹരി
        B:-Liability
ബാധ�ത
        C:-Assets
ആ�ികൾ
        D:-All the above
�കളിൽ പറ�വെയ�ാം
        Correct Answer:- Option-D
Question5:-Long term assets having no physical existence but are rights having value are called
െഭൗതിക അ�ിത�മി�ാ��ം എ�ാൽ �ല�ാവകാശ�� ദീർഘകാല ആ�ികെള വിളി��
        A:-Tangible assets
ടാൻജിബിൾ അസ�കൾ
        B:-Capital assets
�ലധന ആ�ികൾ
        C:-Current assets
കറ�് അസ�കൾ
        D:-Investments
നിേ�പ�ൾ
        Correct Answer:- Option-A
Question6:-Royalty payable is debited to ____________ by lessee
�ടി�ിക�ാരൻ നൽേക� േറായൽ�ി െഡബി�് െച��ത് ________ ആണ്.
        A:-Profit and Loss Account
ലാഭന� അെ�ൗ�്
        B:-Royalty account
േറായൽ�ി അെ�ൗ�്
        C:-Trading account
േ�ഡിംഗ് അെ�ൗ�്
        D:-None of the above
േമൽ�റ�വെയാ�മ�
        Correct Answer:- Option-B
Question7:-Entries in purchase journal are
പർേ��് േജണലിെല എൻ�ികൾ ഇവയാണ്
        A:-Discount received
ലഭി� കിഴിവ്
        B:-Payments to suppliers
വിതരണ�ാർ�� േപെ��കൾ
        C:-Purchase invoices
ഇൻേവായ്�കൾ വാ�ക
        D:-Trade discount
വ�ാപാര കിഴിവ്
        Correct Answer:- Option-C
Question8:-Process of entering all transactions from journal to ledger is called
േജണലിൽ നി�് െലഡ്ജറിേല�� എ�ാ ഇടപാ�ക�ം േരഖെ���� ��ിയെയ വിളി��ത്
        A:-Balancing
ബാലൻസിംഗ്
        B:-Accounting
അെ�ൗ�ിംഗ്
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        C:-Entering
എൻഡറിംഗ്
        D:-Posting
േപാ�ിംഗ്
        Correct Answer:- Option-D
Question9:-Withdrawal of cash and goods by owner of business for his personal use is called
ബിസിന�് ഉടമ തെൻറ വ��ിപരമായ ഉപേയാഗ�ിനായി പണ�ം ചര�ക�ം പിൻവലി��തിെന ___________ എ�് വിളി��.
        A:-Profit
ലാഭം
        B:-Depreciation
�ല��കർ�
        C:-Appropriation
വിനിേയാഗി�ൽ
        D:-Drawings
േ�ായിംഗ്സ്
        Correct Answer:- Option-D
Question10:-Which of the following describes a record of the transactions?
താെഴ�റ��വയിൽ ഏതാണ് ഇടപാ�ക�െട െറേ�ാർഡ് എ�് വിവരി��ത്?
        A:-Income statement
വ�മാന ��ാവന
        B:-Balance sheet
ബാലൻസ് ഷീ�്
        C:-Journal
േജണൽ
        D:-General ledger
ജനറൽ െലഡ്ജർ
        Correct Answer:- Option-C
Question11:-'Sale invoices' are first entered in
'െസയിൽ ഇൻേവായ്�കൾ' ആദ�ം േരഖെ����ത്
        A:-Purchase journal
േജണൽ വാ�ക
        B:-Sales journal
െസയിൽസ് േജണൽ
        C:-Sales account
െസയിൽസ് അെ�ൗ�്
        D:-Cash book
ക�ാഷ് ��്
        Correct Answer:- Option-B
Question12:-'Revenue' causes a _________ in the share holder's equity
'വ�മാനം' ഓഹരി ഉടമ�െട ഇക�ി�ിയിൽ ഒ� _________ ഉ�ാ��.
        A:-Increase
വർ�നവ്
        B:-Decrease
�റവ്
        C:-No impact
സ�ാധീനി��ി�
        D:-Increase and decrease
വർ�ന�ം �റ�ം
        Correct Answer:- Option-A
Question13:-Book keeping mainly consists of which part of accounting process?
��് കീ�ിംഗിൽ �ധാനമാ�ം അെ�ൗ�ിംഗ് ��ിയ�െട ഏത് ഭാഗമാണ് ഉൾെ���ത്?
        A:-Recording financial transactions
സാ��ിക ഇടപാ�കൾ േരഖെ���ക
        B:-Preparing financial statements
സാ��ിക ��ാവനകൾ ത�ാറാ�ക
        C:-Analyzing financial transactions
സാ��ിക ഇടപാ�കൾ വിശകലനം െച�ക
        D:-Auditing books of accounts
അെ�ൗ�ക�െട കണ���ൽ
        Correct Answer:- Option-A
Question14:-Which of the following is the first financial statement prepared during the accounting circle?
അെ�ൗ�ിംഗ് സർ�ിളിൽ ത�ാറാ�ിയ ആദ�െ� സാ��ിക ��ാവന താെഴ�റ��വയിൽ ഏതാണ്?
        A:-Expenditure statement
െചലവ് േ��്െമ�്
        B:-Balance sheet
ബാലൻസ് ഷീ�്
        C:-Cash flow statement
ക�ാഷ് േ�ാ േ��്െമ�്
        D:-Income statement
വ�മാന േ��്െമ�്
        Correct Answer:- Option-D
Question15:-Results of business activities are reflected in
ബിസിന�് �വർ�ന��െട ഫല�ൾ ____________  �തിഫലി��
        A:-Balance sheet
ബാലൻസ് ഷീ�്
        B:-Profit and loss account
ലാഭ ന� അെ�ൗ�്
        C:-Trail balance
�യൽ ബാലൻസ്
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-A
Question16:-Which of the following summarizes investing activities during a period?
താെഴ�റ��വയിൽ ഏതാണ് ഒ� കാലയളവിെല നിേ�പ �വർ�ന�െള സം�ഹി��ത്?
        A:-Income statement
വ�മാന േ��്െമ�്
        B:-Statement of cash flow
പണെമാ��ിെൻറ േ��്െമ�്
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        C:-Trial balance
�യൽ ബാലൻസ്
        D:-Balance sheet
ബാലൻസ് ഷീ�്
        Correct Answer:- Option-B
Question17:-Which one is the first phase of accounting cycle?
അെ�ൗ�ിംഗ് ൈസ�ിളിെൻറ ആദ� ഘ�ം ഏതാണ്?
        A:-Posting to ledger accounts
െലഡ്ജർ അെ�ൗ�കളിേല�് േപാ�് െച�ക
        B:-Preparing journal
േജണൽ ത�ാറാ�ക
        C:-Identifying an economic event or transaction
ഒ� സാ��ിക സംഭവേമാ ഇടപാ�കേളാ തിരി�റി�ക
        D:-Making decision about business
ബിസിനസിെന�റി�് തീ�മാനെമ��ക
        Correct Answer:- Option-C
Question18:-Every business transaction affects at least ____________ accounts
ഓേരാ ബിസിന�് ഇടപാ�ം �റ�ത് ________ അെ�ൗ�കെള�ി�ം ബാധി��.
        A:-Three A/C 's
��് അെ�ൗ�്
        B:-No limit
പരിധിയി�
        C:-One account
ഒ� അെ�ൗ�്
        D:-Two accounts
ര�് അെ�ൗ�കൾ
        Correct Answer:- Option-D
Question19:-Which of the following is a current liability?
താെഴ�റ��വയിൽ ഏതാണ് നിലവിെല ബാധ�ത?
        A:-Bank overdraft
ബാ�് ഓവർ �ാ�്
        B:-Bills payable
അടേ�� ബി�കൾ
        C:-Outstanding expenses
�ടി�ിക െചല�കൾ
        D:-All the above
േമൽ�റ�വെയ�ാം
        Correct Answer:- Option-D
Question20:-An account that records expenses, gains and losses are called
െചല�കൾ, േന��ൾ, ന��ൾ എ�ിവ േരഖെ���� ഒ� അെ�ൗ�ിെന വിളി��ത്
        A:-personal accounts
വ��ിഗത അെ�ൗ�കൾ
        B:-Nominal accounts
നാമമാ� അെ�ൗ�കൾ
        C:-Real accounts
യഥാർ� അെ�ൗ�കൾ
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-B
Question21:-Balance sheets are  prepared
ബാലൻസ് ഷീ�കൾ ത�ാറാ��ത്
        A:-Daily
�തിദിനം
        B:-Weekly
�തിവാരം
        C:-Monthly
�തിമാസം
        D:-Annually
വാർഷികം
        Correct Answer:- Option-D
Question22:-What is a bank reconciliation statement?
എ�ാണ് ബാ�് റീകൺസിലിേയഷൻ േ��്െമ�്?
        A:-An error statement sent by bank
ബാ�് അയ� പിശക് വിവരണം
        B:-Sent by bank on over withdrawals
പണം പിൻവലി�േ�ാൾ ബാ�് വഴി അയ�
        C:-Drawn up to verify cash book balance
ക�ാഷ് ��് ബാലൻസ് പരിേശാധി�ാൻ വലിെ���
        D:-Drawn up by bank to verify bank balance
ബാ�് ബാലൻസ് പരിേശാധി�ി�റ�ി�ാൻ ബാ�് വഴി വലി�ി�ക
        Correct Answer:- Option-C
Question23:-A credit balance shows that
െ�ഡി�് ബാലൻസ് കാണി��ത്
        A:-Firm has earned income
�ാപനം വ�മാനം േനടിയി��്
        B:-Firm owes some property
�ാപനം ചില സ���ൾ കടെ��ിരി��
        C:-Firm has incurred expense
�ാപനം െചലവ് വഹി�ി��്
        D:-Money is owing to the firm
പണം�ാപന�ിന് കടെ��ിരി��
        Correct Answer:- Option-A
Question24:-Money spent to acquire or upgrade physical asset is called
െഭൗതിക ആ�ി േന��തിേനാ നവീകരി��തിേനാ െചലവഴി�� പണെ� വിളി��ത്
        A:-Revenue expenditure
റവന� െചലവ്
        B:-Capital Expenditure
�ലധന െചലവ്
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        C:-Operating expenditure
�വർ�ന െചലവ്
        D:-Administrative expenditure
ഭരണപരമായ െചലവ്
        Correct Answer:- Option-B
Question25:-Accounting cycle represents a series of steps that a business used to
അെ�ൗ�ിംഗ് ൈസ�ിൾ ഒ� ബിസിന�് ഉപേയാഗി�� ഘ���െട ഒ� പര�രെയ �തിനിധീകരി��
        A:-Record and classify transactions
ഇടപാ�കൾ േരഖെ���ക�ം തരംതിരി�ക�ം െച�ക
        B:-Summarize transactions
ഇടപാ�കൾ സം�ഹി�ക
        C:-Communicate financial events
സാ��ിക സംഭവ�ൾ ആശയവിനിമയം നട�ക
        D:-All the above
�കളിൽ പറ�വെയ�ാം
        Correct Answer:- Option-D
Question26:-Which of the following is NOT correct?
താെഴ�റ��വയിൽ ഏതാണ് ശരിയ�ാ�ത്?
        A:-Outstanding expense-current assets
�ടി�ിക�� െചലവ്-നിലവിെല ആ�ികൾ
        B:-Sundry debtors - current assets
സൺ�ി െഡേ��്-നിലവിെല ആ�ികൾ
        C:-Good will - intangible assets
�ഡ് വിൽ-അ�ശ�മായ ആ�ികൾ
        D:-Machinery - Fixed asset
യ�സാമ�ികൾ-നി�യി� ആ�ി
        Correct Answer:- Option-A
Question27:-Result of business activities are reflected in
ബിസിന�് �വർ�ന��െട ഫലം __________ �തിഫലി��.
        A:-Receipts and payments account
രസീത്, േപെ��് അെ�ൗ�്
        B:-Balance sheet
ബാലൻസ് ഷീ�്
        C:-Profit and loss account
ലാഭ ന� അെ�ൗ�്
        D:-Income and Expenditure account
വ�മാനം, െചലവ് അെ�ൗ�്
        Correct Answer:- Option-B
Question28:-What is the term 'working capital' means?
'�വർ�ന �ലധനം' എ� പദ�ിെൻറ അർ�െമ�ാണ്?
        A:-Capital less drawings
�ലധനമി�ാ� വരവ്
        B:-Total of fixed assets (-) current assets
െമാ�ം�ിര ആ�ികൾ (-) നിലവിെല ആ�ികൾ
        C:-Capital invested by proprietor
ഉടമ�ൻ നിേ�പി� �ലധനം
        D:-Excess of current assets over current liabilities
നിലവിെല ബാധ�തകേള�ാൾ ��തൽ നിലവിെല ആ�ികൾ
        Correct Answer:- Option-B
Question29:-Net profit is calculated in the
അ�ാദായം കണ�ാ��ത്
        A:-Trail balance
�യൽ ബാലൻസ്
        B:-Profit and Loss account
ലാഭ ന� അെ�ൗ�്
        C:-Trading account
േ�ഡിംഗ് അെ�ൗ�്
        D:-Balance sheet 
ബാലൻസ് ഷീ�്
        Correct Answer:- Option-B
Question30:-Process of recording transactions in different journals is called
വിവിധ േജണ�കളിൽ ഇടപാ�കൾ േരഖെ���� ��ിയെയ വിളി��ത്
        A:-Accounting
അെ�ൗ�ിംഗ്
        B:-Posting
േപാ�ിംഗ്
        C:-Journalizing
േജർണൈലസിംഗ്
        D:-All the above
�കളിൽ പറ�വെയ�ാം
        Correct Answer:- Option-C
Question31:-Patents, copy rights and trademark are
േപ��കൾ, പകർ�വകാശ�ൾ, വ�ാപാര�� എ�ിവ ഇവയാണ്
        A:-Intangible assets
അ�ശ�മായ ആ�ികൾ
        B:-Fixed assets
�ിരമായ ആ�ികൾ
        C:-Gaines
േന��ൾ
        D:-Current assets
നിലവിെല ആ�ികൾ
        Correct Answer:- Option-A
Question32:-Which of the following is a liability?
താെഴ�റ��വയിൽ ഏതാണ് ബാധ�ത?
        A:-Creditors
കടം െകാ���വർ
        B:-Motor car
േമാേ�ാർ കാർ
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        C:-Machinery
യ��ൾ
        D:-Cash at bank
ബാ�ിെല പണം
        Correct Answer:- Option-A
Question33:-Which one is a nominal account?
നാമമാ�മായ അെ�ൗ�് ഏതാണ്?
        A:-Rent account
വാടക അെ�ൗ�്
        B:-Machinery account
െമഷിനറി അെ�ൗ�്
        C:-Building account
ബിൽഡിംഗ് അെ�ൗ�്
        D:-Creditor's account
െ�ഡി��െട അെ�ൗ�്
        Correct Answer:- Option-A
Question34:-Liability and Equity accounts have a _________ balance
ബാധ�ത�ം ഇക�ി�ി അെ�ൗ�കൾ�ം ഒ� __________ ബാലൻസ് ഉ�്.
        A:-Credit
െ�ഡി�്
        B:-Debit
െഡബി�്
        C:-Contra
േകാൺ�ാ
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-A
Question35:-Goods returned by customer shall be debited to
ഉപേഭാ�ാവ് മട�ിനൽ�� സാധന�ൾ താെഴ�റ�� വിലാസ�ിൽ െഡബി�് െച�െ��ം
        A:-Return inward A/c
റിേ�ൺ ഇൻവാഡ് അെ�ൗ�്
        B:-Sales A/c
വിൽ�ന അെ�ൗ�്
        C:-Sales income A/c
വിൽ�ന വ�മാന അെ�ൗ�്
        D:-Expense A/c
െചലവ് അെ�ൗ�്
        Correct Answer:- Option-A
Question36:-Contra asset Account has a ___________ balance
േകാൺ�ാ അസ�് അെ�ൗ�ിന് ഒ� _________ ബാലൻസ് ഉ�്.
        A:-Credit balance
െ�ഡി�് ബാലൻസ്
        B:-Debit balance
െഡബി�് ബാലൻസ്
        C:-Contra balance
േകാൺ�ാ ബാലൻസ്
        D:-All the above
േമൽ�റ�വെയ�ാം
        Correct Answer:- Option-A
Question37:-Which of the following is a sales ledger?
താെഴ�റ��വയിൽ ഏതാണ് െസയിൽസ് െലഡ്ജർ?
        A:-Creditors ledger
െ�ഡിേ��് െലഡ്ജർ
        B:-Debtors ledger
െഡേ��് െലഡ്ജർ
        C:-Personal Ledger
േപ�ണൽ െലഡ്ജർ
        D:-Nominal ledger
േനാമിനൽ െലഡ്ജർ
        Correct Answer:- Option-B
Question38:-Sales income of a business is called
ഒ� ബിസിന�ിെൻറ വിൽ�ന വ�മാനെ� വിളി��ത്
        A:-Turn over
വി�വരവ്
        B:-Purchase return
പർേ��് റിേ�ൺ
        C:-Sales return
െസയിൽസ് റിേ�ൺ
        D:-Transactions
ഇടപാ�കൾ
        Correct Answer:- Option-A
Question39:-Personal account and cash account are prepared in
വ��ിഗത അെ�ൗ�ം ക�ാഷ് അെ�ൗ�ം ത�ാറാ��ത്
        A:-Mercantile system
െമർ�ൈ�ൽ സി�ം
        B:-Double entry
ഡബിൾ എൻ�ി
        C:-Single entry
സിംഗിൾ എൻ�ി
        D:-Accrual system
അ�വൽ സി�ം
        Correct Answer:- Option-C
Question40:-Which one of the following is calssified as a real account?
താെഴ�റ��വയിൽ ഏതാണ് യഥാർ� അെ�ൗ�ായി തരംതിരി�ി��ത്?
        A:-Rent income A/c
വാടക വ�മാന അെ�ൗ�്
        B:-Rent expense A/c
വാടക െചലവ് അെ�ൗ�്

Home Page http://192.168.1.6/dept/modules/marklist/answe...

5 of 13 Wednesday 18 October 2023 02:50 PM



        C:-Cash A/c
ക�ാഷ് അെ�ൗ�്
        D:-Insurance Expense A/c
ഇൻ�റൻസ് െചലവ് അെ�ൗ�്
        Correct Answer:- Option-C
Question41:-_________ is a single legal entity whose total capital can be divided into many shares
െമാ�ം �ലധനം നിരവധി ഓഹരികളായി വിഭജി�ാൻ കഴി�� ഒെരാ� നിയമപരമായ�ാപനമാണ്.
        A:-Partnership firm
പ�ാളി��ാപനം
        B:-Proprietorship
ഉടമ�ാവകാശം
        C:-Company
ക�നി
        D:-Non-profit organization
ലാേഭ�യി�ാ� സംഘടന
        Correct Answer:- Option-C
Question42:-Balance sheet is a statement of
ബാലൻസ് ഷീ�് ____________ ഒ� ��ാവനയാണ്
        A:-Assets
ആ�ികൾ
        B:-Capital
�ലധനം
        C:-Liabilities
ബാധ�തകൾ
        D:-All the above
�കളിൽ പറ�വെയ�ാം
        Correct Answer:- Option-D
Question43:-Capital of a business increases when __________ increases
ഒ� ബിസിന�ിെൻറ �ലധനം വർ�ി�േ�ാൾ ________ വർ�ി��.
        A:-Drawings
േ�ായിംഗ്സ്
        B:-Revenue
വ�മാനം
        C:-Expense exceeds income
വ�മാനെ��ാ�ം െചലവ് ���
        D:-Interest on capital
�ലധന�ിെൻറ പലിശ
        Correct Answer:- Option-B
Question44:-Debts which are to be paid within short period are called
���ിയ കാലയളവി��ിൽ അടേ�� കട�െള പറ��ത്
        A:-Contingent liability
ആക�ികമായ ബാധ�ത
        B:-Fixed liability
�ിരമായ ബാധ�ത
        C:-Current liabilities
നിലവിെല ബാധ�തകൾ
        D:-All the above
�കളിൽ പറ�വെയ�ാം
        Correct Answer:- Option-C
Question45:-What is meant by 'purchases'?
'വാ��കൾ' എ�ാൽ എ�ാണ് അർ�മാ��ത്?
        A:-Goods sold
വി� സാധന�ൾ
        B:-Goods bought on credit
കടം െകാ��് വാ�ിയ സാധന�ൾ
        C:-Goods bought for sale
വിൽ�ന�് വാ�ിയ സാധന�ൾ
        D:-Items bought
വാ�ിയ സാധന�ൾ
        Correct Answer:- Option-C
Question46:-What is meant by Equity?
സമത�ം എ�ാൽ എ�ാണ് അർ�മാ��ത്?
        A:-Owner's claim on total liabilities
െമാ�ം ബാധ�തകെള�റി�� ഉടമ�െട അവകാശവാദം
        B:-Liability of business
ബിസിന�ിെൻറ ബാധ�ത
        C:-Owner's claim of assets
ഉടമ�െൻറ ആ�ിക�െട അവകാശവാദം
        D:-Cash from business
ബിസിന�ിൽ നി�� പണം
        Correct Answer:- Option-C
Question47:-A trail balance shows
ഒ� �യൽ ബാലൻസ് കാണി��ത്
        A:-All entries in the book
��ക�ിെല എ�ാ എൻ�ിക�ം
        B:-List of balances in books
��ക�ളിെല ബാലൻ�ക�െട പ�ിക
        C:-Financial position of business
ബിസിനസിെൻറ സാ��ിക�ിതി
        D:-Special account
�േത�ക അെ�ൗ�്
        Correct Answer:- Option-B
Question48:-If wages are paid for construction of business premises _______ account is credited and _________ is debited.
ബിസിനസ് �ിൈമസസ് നിർ�ാണ�ിനായി േവതനം നൽ�കയാെണ�ിൽ ________ അെ�ൗ�് െ�ഡി�് െച�ക�ം ________ െഡബി�് െച�ക�ം െച��.
        A:-Premises, Cash
�ിൈമസസ്, ക�ാഷ്
        B:-Wages, Cash
േവതനം, ക�ാഷ്
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        C:-Cash, Premises
ക�ാഷ്, �ിൈമസസ്
        D:-Cash, Wages
ക�ാഷ്, േവതനം
        Correct Answer:- Option-A
Question49:-Capital account of proprietor may change due to
ഉടമ�െൻറ �ലധന അെ�ൗ�് താെഴ�റ�� കാരണ�ളാൽ മാറിേയ�ാം
        A:-Additional capital
അധിക �ലധനം
        B:-Profit gained
േനടിയ ലാഭം
        C:-Loss incurred
ഉ�ായ ന�ം
        D:-All the above
�കളിൽ പറ�വെയ�ാം
        Correct Answer:- Option-D
Question50:-Historical cost concept requires valuation of asset at
ചരി�പരമായ െചലവ് ആശയ�ിന് ആ�ി�െട �ല�നിർ�യം ആവശ�മാണ്
        A:-Reasonable value
ന�ായമായ �ല�ം
        B:-Original cost
യഥാർ� െചലവ്
        C:-Market value
വിപണി �ല�ം
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-B
Question51:-A _____________ is both a ledger and journal
 ________ ഒ� െലഡ്ജ�ം േജണ�മാണ്.
        A:-Profit and Loss A/c
ലാഭ ന� അെ�ൗ�്
        B:-Cash account
ക�ാഷ് അെ�ൗ�്
        C:-Cash book
ക�ാഷ് ��്
        D:-Double entry
ഡബിൾ എൻ�ി
        Correct Answer:- Option-C
Question52:-Goods returned to suppliers is credited to ____________ account
വിതരണ�ാർ�് തിരിെക നൽ�� സാധന�ൾ _________ അെ�ൗ�ിേല�് െ�ഡി�് െച�െ���.
        A:-Purchase returns
പർേ��് റിേ�ൺസ്
        B:-Sales
വിൽ�ന
        C:-Return inwards
റിേ�ൺ ഇൻവാഡ്സ്
        D:-Sales returns
െസയിൽസ് റിേ�ൺസ്
        Correct Answer:- Option-A
Question53:-Capital as increases by profit or decreased by loss is called
ലാഭംെകാ�് വർ�ി��േതാ ന�ംെകാ�് �റ��േതാ ആയ �ലധനെ� പറ��ത്
        A:-Reserve
ക�തൽ
        B:-Dividend
ലാഭവിഹിതം
        C:-Net worth
െമാ�ം �ല�ം
        D:-Equity
ഓഹരി
        Correct Answer:- Option-C
Question54:-Which of the following is not a part of book of original entry?
താെഴ�റ��വയിൽ ഏതാണ് ഒറിജിനൽ എൻ�ി�െട ഭാഗമ�ാ�ത്?
        A:-Returns inwards account
അെ�ൗ�ിേല�് തിരിെക ന��
        B:-Salaries account
സാലറി അെ�ൗ�്
        C:-Sales Book
െസയിൽസ് ��്
        D:-Purchase book
പർേ��് ��്
        Correct Answer:- Option-B
Question55:-Allowance made a receiver of cash to payer for prompt payment is called
െപ��� േപെ��ിനായി പണം സ�ീകരി��യാൾ�് നൽ�� അലവൻസിെന വിളി��ത്
        A:-Cash discount
ക�ാഷ് ഡിെ�ൗ�്
        B:-Trade discount
േ�ഡ് ഡിെ�ൗ�്
        C:-Bonus
േബാണസ്
        D:-Rebate
റിേബ�്
        Correct Answer:- Option-A
Question56:-Process of recording transactions in a _____ is called journalizing
_____________ ഇടപാ�കൾ േരഖെ���� ��ിയെയ േജർണൈലസിംഗ് എ�് വിളി��.
        A:-Profit and Loss account
ലാഭന� അെ�ൗ�്
        B:-Journal
േജണൽ
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        C:-Cash book
ക�ാഷ് ��്
        D:-Ledger
െലഡ്ജർ
        Correct Answer:- Option-B
Question57:-____________ is the technique and process of ascertaining cost
___________ െചലവ് നിർ�യി��തി�� സാേ�തികവിദ��ം ��ിയ�മാണ്.
        A:-Financial accounting
ഫിനാൻഷ�ൽ അെ�ൗ�ിംഗ്
        B:-Invoicing
ഇൻേവായ്സിംഗ്
        C:-Costing
േകാ�ിംഗ്
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-C
Question58:-Interest is an example of ______ income reported on income statement
വ�മാന ��ാവനയിൽ റിേ�ാർ�് െച� ___________ വ�മാന�ിെൻറ ഒ� ഉദാഹരണമാണ് പലിശ.
        A:-Deferred revenue
മാ�ിവ� വ�മാനം
        B:-Capital
�ലധനം
        C:-Operating
�വർ�നം
        D:-Non-operating
�വർ�നരഹിതമായ
        Correct Answer:- Option-D
Question59:-Which account is NOT a liability account
ഏത് അെ�ൗ�ാണ് ബാധ�ത അെ�ൗ�് അ�ാ�ത്?
        A:-Salary outstanding
ശ�ള �ടി�ിക
        B:-Bills payable
അടയേ�� ബി�കൾ
        C:-Cash
പണം
        D:-Accrued Expense
സമാഹരി� െചലവ്
        Correct Answer:- Option-C
Question60:-Which of the following is used to record a business event as they occur throughout a year?
ഒ� വർഷം ��വൻ നട�� ഒ� ബിസിനസ് ഇവ�് െറേ�ാർഡ് െച�ാൻ ഇനി�റ��വയിൽ ഏതാണ് ഉപേയാഗി��ത്?
        A:-Ledger
െലഡ്ജർ
        B:-Journal entry
േജണൽ എൻ�ി
        C:-Cash book
ക�ാഷ് ��്
        D:-Day book
േഡ ��്
        Correct Answer:- Option-B
Question61:-Assets account have __________ balance
ആ�ിക�െട അെ�ൗ�ിൽ ________ ബാലൻസ് ഉ�്.
        A:-Debit A/c
െഡബി�് അെ�ൗ�്
        B:-Credit A/c
െ�ഡി�് അെ�ൗ�്
        C:-Credit and debit A/c
െ�ഡി�്, െഡബി�് അെ�ൗ�്
        D:-Contra A/c
േകാൺ�ാ അെ�ൗ�്
        Correct Answer:- Option-A
Question62:-Which one is not a column in the Three column cash book?
��് േകാളം ക�ാഷ് ��ിെല  േകാളം അ�ാ�ത് ഏതാണ്?
        A:-Discount column
ഡിെ�ൗ�് േകാളം
        B:-Petty cash column
െപ�ി ക�ാഷ് േകാളം
        C:-Cash column
ക�ാഷ് േകാളം
        D:-Bank column
ബാ�് േകാളം
        Correct Answer:- Option-B
Question63:-After preparation of ledgers, Next step is preparation of
െലഡ്ജ�കൾ ത�ാറാ�ിയ േശഷം, അ��ഘ�ം __________ ത�ാറാ�ക.
        A:-Profit and Loss Account
ലാഭന� അെ�ൗ�്
        B:-Balance sheet
ബാലൻസ് ഷീ�്
        C:-Trial balance
�യൽ ബാലൻസ്
        D:-Trading A/c
േ�ഡിംഗ്  അെ�ൗ�്
        Correct Answer:- Option-C
Question64:-A Trial balance does not disclose
ഒ� �യൽ ബാലൻസ് െവളിെ����ി�
        A:-Errors of principle
�ിൻസി�ളിെല പിശ�കൾ
        B:-Errors of Omission
ഒഴിവാ�ലിെല പിശ�കൾ
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        C:-Compensatory errors
ന�പരിഹാര പിശ�കൾ
        D:-All the above
�കളിൽ പറ�വെയ�ാം
        Correct Answer:- Option-D
Question65:-Double entry system was first introduced in
ഡബിൾ എൻ�ി സി�ം ആദ�മായി അവതരി�ി�ത്
        A:-America
അേമരി�
        B:-England
ഇം��്
        C:-France
�ാൻസ്
        D:-Italy
ഇ�ലി
        Correct Answer:- Option-D
Question66:-At any given time there will be unfinished or partly finished works in a manufacturing company
ഏത് സമയ�ം ഒ� നിർ�ാണ ക�നിയിൽ �ർ�ിയാകാ�േതാ ഭാഗികമായി �ർ�ിയായേതാ ആയ േജാലികൾ ഉ�ാ�ം.
        A:-Work in progress
േജാലികൾ �േരാഗമി�കയാണ്
        B:-Closing stock
േ�ാസിംഗ് േ�ാ�്
        C:-Inventory
ഇൻെവ�റി
        D:-Stock in trade
േ�ാ�് ഇൻ േ�ഡ്
        Correct Answer:- Option-A
Question67:-Which among the following is a fictitious asset?
താെഴ�റ��വയിൽ ഏതാണ് സാ�ൽ�ിക സ��്?
        A:-Machinery
യ��ൾ
        B:-Patent
േപ��്
        C:-Closing stock
േ�ാസിംഗ് േ�ാ�്
        D:-Preliminary expenses
�ാഥമിക െചല�കൾ
        Correct Answer:- Option-B
Question68:-Outstanding expenses account is ___________ account
�ടി�ിക െചല�ക�െട അെ�ൗ�് _________ അെ�ൗ�് ആണ്.
        A:-Nominal
നാമമാ�
        B:-Impersonal
വ��ിത�മി�ാ�
        C:-Personal
വ��ിപരമായ
        D:-Real
യഥാർ�
        Correct Answer:- Option-C
Question69:-Income and expenditure account is a __________ account
വ�മാന�ിെൻറ�ം െചലവിെൻറ�ം അെ�ൗ�് ഒ� _________ അെ�ൗ�് ആണ്.
        A:-Real
റിയൽ
        B:-Nominal
േനാമിനൽ
        C:-Personal
േപ�ണൽ
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-B
Question70:-Receipts and payments account is a __________ account
രസീത് ആൻഡ് േപെ��് അെ�ൗ�് ഒ� _________ അെ�ൗ�് ആണ്.
        A:-Real
റിയൽ
        B:-Personal
േപ�ണൽ
        C:-Nominal
േനാമിനൽ
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-A
Question71:-Excess of income over expenditure in the Income and expenditure account is known as
വ�മാന�ിെൻറ�ം െചലവിെൻറ�ം അെ�ൗ�ിെല െചല�കേള�ാൾ അധികമായ വ�മാനെ� _________ എ� വിളി��.
        A:-Surplus
മി�ം
        B:-Deficit
ക�ി
        C:-Profit
ലാഭം
        D:-Reserve
ക�തൽ
        Correct Answer:- Option-A
Question72:-Decrease in value of fixed assets by constant use is termed as depreciation by
�ിരമായ ഉപേയാഗ�ി�െട�ിര ആ�ിക�െട �ല�ം �റ��തിെന �ല��കർ� എ�് വിളി��.
        A:-Obsolescence
ഒബ്േസാളിസൻസ്
        B:-Depletion
�റയൽ
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        C:-Expiry of time
കാലഹരണെ�ടൽ
        D:-Wear and Tear
േത�ാനം
        Correct Answer:- Option-D
Question73:-Scrap value is also called as _________ value
�ാ�് �ല�െ� ________ �ല�ം എ�ം വിളി��.
        A:-Realizable value
തിരി�റിയാ�� �ല�ം
        B:-Market value
മാർ��് �ല�ം
        C:-Break-up value
േ��്-അപ് �ല�ം
        D:-Resale value
�നർവിൽ�ന �ല�ം
        Correct Answer:- Option-C
Question74:-Goods worth Rs. 100/ given as charity shall be credited to _________
ചാരി�ിയായി നൽ�� Rs.100 വിലമതി�� സാധന�ൾ ______________ െ�ഡി�് െച�െ��ം.
        A:-Charity A/c
ചാരി�ി അെ�ൗ�്
        B:-Purchase account
പർേ�സ് അെ�ൗ�്
        C:-Cash A/c
ക�ാഷ് അെ�ൗ�്
        D:-Sales A/c
െസയിൽസ് അെ�ൗ�്
        Correct Answer:- Option-B
Question75:-Bad debts recovered during the year is
വർഷ�ിൽ തിരിെ��� കി�ാ�ടം ആണ്
        A:-Revenue receipt
റവന� രസീത്
        B:-Capital receipt
�ലധന രസീത്
        C:-Capital Expenditure
�ലധന െചലവ്
        D:-Revenue Expenditure
റവന� െചലവ്
        Correct Answer:- Option-A
Question76:-Insurance claim received on machinery fully damage on fire is
തീപിടി��ിൽ യ��ൾ�് �ർ�മാ�ം േക�പാ�കൾ സംഭവി�ാൽ ലഭി�� ഇൻ�റൻസ് െ�യിം
        A:-Capital expenditure
�ലധനെ�ലവ്
        B:-Revenue Receipt
റവന� രസീത്
        C:-Revenue expense
റവന� െചലവ്
        D:-Capital receipt
�ലധന രസീത്
        Correct Answer:- Option-D
Question77:-Balance amount in petty cash book is
െപ�ി ക�ാഷ് ��ിെല ബാലൻസ് �ക
        A:-Expense
െചലവ്
        B:-Liability
ബാധ�ത
        C:-Asset
ആ�ി
        D:-Profit
ലാഭം
        Correct Answer:- Option-C
Question78:-Debit Note issued are used to prepare
ഇഷ� െച�  െഡബി�് േനാ�് __________ ത�ാറാ�ാൻ ഉപേയാഗി��.
        A:-Sales return Book
െസയിൻസ് റിേ�ൺ ��്
        B:-Purchase return Book
പർേ�സ് റിേ�ൺ ��്
        C:-Purchase Book
പർേ�സ് ��്
        D:-Sales Book
െസയിൽസ് ��്
        Correct Answer:- Option-B
Question79:-In case of a bad debt, amount should be credit to _________ account
കട ബാധ�ത ഉെ��ിൽ �ക ___________ അെ�ൗ�ിേല�് െ�ഡി�് െച�ണം.
        A:-Trade receivables
േ�ഡ് റിസീവബിൾസ്
        B:-Bad debts
കി�ാ�ടം
        C:-Sales account
വിൽ�ന അെ�ൗ�്
        D:-Cash account
ക�ാഷ് അെ�ൗ�്
        Correct Answer:- Option-A
Question80:-Which is the accounting concept specifies the practice of crediting the closing stock to Trading A/c?
േ�ാസിംഗ് േ�ാ�് േ�ഡിംഗ് അെ�ൗ�ിേല�് െ�ഡി�് െച�� രീതി വ��മാ�� അെ�ൗ�ിംഗ് ആശയം ഏതാണ്?
        A:-Going concern
േഗായിംഗ് കൺേസൺ
        B:-Matching
െപാ��െ���ൽ
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        C:-Realization
തിരി�റിവ്
        D:-Cost
െചലവ്
        Correct Answer:- Option-B
Question81:-Which one is not a Real Account?
ഏതാണ് യഥാർ� അെ�ൗ�് അ�ാ�ത്?
        A:-Investments
നിേ�പ�ൾ
        B:-Cash
പണം
        C:-Outstanding rent
�ടി�ിക�� വാടക
        D:-Purchases
വാ��കൾ
        Correct Answer:- Option-C
Question82:-Profit and loss is calculated at the stage of
__________ ഘ��ിലാണ് ലാഭ�ം ന��ം കണ�ാ��ത്.
        A:-Classifying
തരംതിരി�ൽ
        B:-Posting
േപാ�് െച�ൽ
        C:-Recording
െറേ�ാർഡിംഗ്
        D:-Summarizing
സം�ഹി�ൽ
        Correct Answer:- Option-D
Question83:-For every 'debit' there will be an equal credit as per _______ concept
ഓേരാ 'െഡബി�ി�ം' _________ ആശയം അ�സരി�് �ല� െ�ഡി�് ഉ�ായിരി�ം.
        A:-Money measurement
പണ�ിെൻറ അളവ്
        B:-Matching
െപാ��െ���ൽ
        C:-Cost concept
െചലവ് ആശയം
        D:-Dual aspect
ഡ�വൽ വശം
        Correct Answer:- Option-D
Question84:-Income tax paid will be debited to ____________ account
അട��ആദായനി�തി_____________  അെ�ൗ�ിേല�് െഡബി�് െച�െ��ം.
        A:-Receipt and Payment
രസീ�ം അട��ം
        B:-Profit and Loss
ലാഭ�ം ന��ം
        C:-Capital account
�ലധന അെ�ൗ�്
        D:-Trading
വ�ാപാരം
        Correct Answer:- Option-C
Question85:-What will be debited when a business was commenced with cash?
പണം ന�ി ഒ� ബിസിന�് ആരംഭി�േ�ാൾ എ�ാണ് െഡബി�് െചേ��ത്?
        A:-Proprietors Account
ഉടമ�െൻറ അെ�ൗ�്
        B:-Cash account
ക�ാഷ് അെ�ൗ�്
        C:-Capital account
ക�ാപി�ൽ അെ�ൗ�്
        D:-Drawings account
േ�ായിംഗ്സ് അെ�ൗ�്
        Correct Answer:- Option-B
Question86:-Goods worth Rs. 5,000/ purchased was recorded in sales book. Rectification of this error will
വാ�ിയ 5,000 �ല��� സാധന�ൾ െസയിൽസ് ��ിൽ േരഖെ���ിയി��്. ഈ െത�് തി���ത്
        A:-Reduce Gross profit
െമാ�ം ലാഭം �റ�ക
        B:-Increase gross profit
െമാ�ം ലാഭം വർ�ി�ി�ക
        C:-No effect
ഫലമി�
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-A
Question87:-Any expense that gives benefit for less than 12 months is called
12 മാസ�ിൽ താെഴ ആ��ല��ൾ നൽ�� ഏെതാ� െചലവിെന�ം വിളി��ത്
        A:-Nominal expense
നാമമാ� െചലവ്
        B:-Capital revenue
�ലധന വ�മാനം
        C:-Deferred Expense
മാ�ിവ� െചലവ്
        D:-Revenue Expense
റവന� െചലവ്
        Correct Answer:- Option-D
Question88:-Account format that displaces credits, debits, balance and headings
െ�ഡി�കൾ, െഡബി�കൾ, ബാലൻസ്, തലെ��കൾ എ�ിവ മാ�ി �ാപി�� അെ�ൗ�് േഫാർമാ�്
        A:-Cash book
ക�ാഷ് ��്
        B:-General journal
ജനറൽ േജണൽ
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        C:-Ledger account
െലഡ്ജർ അെ�ൗ�്
        D:-Profit and loss A/c
ലാഭന� അെ�ൗ�്
        Correct Answer:- Option-C
Question89:-When revenues are recorded in accrual basis of accounting?
അെ�ൗ�ിംഗിെൻറ അ��വൽ അടി�ാന�ിൽ വ�മാനം  േരഖെ����ത് എേ�ാഴാണ്?
        A:-Date of collection
േശഖരി� തീയതി
        B:-Date of earning
സ�ാദി� തീയതി
        C:-Date of contract
കരാർ തീയതി
        D:-Readily available for use
ഉപേയാഗ�ിന് എ���ിൽ ലഭ�മാണ്
        Correct Answer:- Option-B
Question90:-When closing stock is over valuated, how it would be affected on profit?
േ�ാസിംഗ് േ�ാ�് അമിതമായി �ല�നിർ�യം നട�േ�ാൾ, അത് ലാഭെ� എ�െന ബാധി�ം?
        A:-Profit will increase
ലാഭം വർ�ി�ം
        B:-Profit decrease
ലാഭം �റ��
        C:-No effect in profit
ലാഭ�ിൽ ഫലമി�
        D:-None of the above
േമൽ�റ�വെയാ�മ�
        Correct Answer:- Option-A
Question91:-Valuation of stock in accounting follows the principle of cost price or _________ whichever is less.
അെ�ൗ�ിെല േ�ാ�ിെൻറ �ല�നിർ�യം െചലവ് വില�െട തത�ം  അെ��ിൽ ________ ഏതാേണാ �റവ് അത്.
        A:-Average cost
ശരാശരി െചലവ്
        B:-Market price
വിപണി വില
        C:-Net realizable value
േനടാ�� െമാ�ം �ല�ം
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-C
Question92:-Accrued expenses are included as
സമാഹരി� െചല�കളിൽ ഉൾെ�ാ��ത്
        A:-Gain
േന�ം
        B:-Income
വ�മാനം
        C:-Liability
ബാധ�ത
        D:-Asset
ആ�ി
        Correct Answer:- Option-C
Question93:-Introduction of capital by owner is recorded on the __________ side of the cash book
ഉടമ �ലധന�ിെൻറ ആ�ഖം ക�ാഷ് ��ിെൻറ  ______________ വശ�് േരഖെ���ിയി��്.
        A:-Income
വ�മാനം
        B:-Receipts
രസീ�കൾ
        C:-Payments
േപെ��കൾ
        D:-Expenditure
െചലവ്
        Correct Answer:- Option-B
Question94:-Which of the following reports activity on a specific point of time?
താെഴ�റ�� ഏതാണ് ഒ� നി�ിത സമയെ� �വർ�നം റിേ�ാർ�് െച��ത്?
        A:-Cash flow statement
ക�ാഷ് േ�ാ േ��്െമ�്
        B:-Balance sheet
ബാലൻസ് ഷീ�്
        C:-Audit statement
ഓഡി�് േ��്െമ�്
        D:-Income statement
വ�മാന േ��്െമ�്
        Correct Answer:- Option-B
Question95:-Accounts payable is reported as a ________ liability on the balance sheet
അടേ�� അെ�ൗ�കൾ ബാലൻസ് ഷീ�ിൽ _________ ബാധ�തയായി റിേ�ാർ�് െച�െ���.
        A:-Future
ഭാവി
        B:-Fixed
�ിരമായത്
        C:-Current
നിലവി��
        D:-Contingent
ആക�ികമായ
        Correct Answer:- Option-C
Question96:-Identify the assets from the following
താെഴ�റ��വയിൽ നി�് ആ�ികൾ തിരി�റി�ക
        A:-Loans raised
സമാഹരി� വാ�കൾ
        B:-Cash and equivalent
ക�ാഷ് ആൻഡ് ഈക�ല�്
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        C:-Creditors
�ഡിേ��്
        D:-Interest received
ലഭി� പലിശ
        Correct Answer:- Option-B
Question97:-Which of the following is not an asset?
താെഴ�റ��വയിൽ ഏതാണ് ആ�ിയ�ാ�ത്?
        A:-Buildings
െക�ിട�ൾ
        B:-Debtors
െഡേ��്
        C:-Loan from bank
ബാ�ിൽ നി�� വാ�
        D:-Cash balance
ക�ാഷ് ബാലൻസ്
        Correct Answer:- Option-C
Question98:-Expense for formation of a company is
ഒ� ക�നി �പീകരി��തി�� െചലവ്
        A:-Revenue Expenditure
റവന� െചലവ്
        B:-Trading Expenditure
േ�ഡിംഗ് െചലവ്
        C:-Preliminary expense
�ാഥമിക െചലവ്
        D:-Overhead expenditure
ഓവർെഹഡ് െചലവ്
        Correct Answer:- Option-C
Question99:-Period of time shall be elapsed before the manufacture and sale of goods in certain businesses. Expense incurred during the period is
called
ചില ബിസിന�കളിൽ ചര�ക�െട നിർ�ാണ�ി�ം വിൽ�ന�ം ��� കാലയളവ് കട�േപാ�ം. ഈകാലയളവിെല െചലവിെന വിളി��ത്
        A:-Manufacturing Expenditure
ഉൽ�ാദനെ�ലവ്
        B:-Revenue Expenditure
റവന� െചലവ്
        C:-Prepaid expenditure
�ീെപയ്ഡ് െചലവ്
        D:-Development Expenditure
വികസന െചലവ്
        Correct Answer:- Option-D
Question100:-Mark the 'odd one out' from the following
താെഴ�റ��വയിൽ നി�് 'ഒ�െ�� ഒ�്' അടയാളെ���ക
        A:-Land and Buildings
�മി�ം െക�ിട��ം
        B:-Plant and Machinery
�ാ�ം യ���ം
        C:-Inventory of Materials
വ���െട കെ��ൽ
        D:-Furniture and Equipments
ഫർണി��ക�ം ഉപകരണ��ം
        Correct Answer:- Option-C
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